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DP IB Maths: Al HL s

Your notes

3.6 Matrix Transformations
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3.6.1Matrix Transformations /

Your notes
Transformation by a Matrix
What is a transformation matrix?

= Atransformation matrixis used to determine the coordinates of animage from the transformation of
anobject
= Commonly used transformation matrices include
= reflections, rotations, enlargements and stretches
= (In2D)amultiplication by any 2x2 matrix could be considered a transformation (in the 2D plane)

X
= Anindividual pointinthe plane can be represented as a position vector, r 1

\Y)

X1 X2 X3

= Several points, that create a shape say, can be written as a position matrix

\yl Y, Y, )
(220 )+(<)
= A matrix transformation will be of the form +
\cd\y) \f)

X
] where( 1representsanypointinthe2DpIane

ab e
] and are given matrices

cd f
How do | find the coordinates of animage under a transformation?

ab
cd

= The coordinates (x’,y’) - the image of the point (x, y) under the transformation with matrices

e
and ( 1 -are givenby
\f)

R e
y') \ed\y) \f)
= Similarly, for a position matrix
X'1 X'2 X’3 =(a b) X, X, Xy o +(e c e \
vy, Yy ) \ed)ix; x, xp ) \FFF..)
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= |fyouuse thismethod thenrememberto add e and fto each column
= AGDC canbe used formatrix multiplication
= |f matricesinvolved are small, it may be as quick to do this manually

= STEP]
Determine the transformation matrix (T) and the position matrix (P)
The transformation matrix, if uncommon, will be given in the question
The position matrix is determined from the coordinates involved, itis best to have the coordinatesin
order, to avoid confusion

= STEP2
Setup and perform the matrix multiplication and addition required to determine the image position
matrix, P’
P’ =TP

= STEP3

Determine the coordinates of the image from the image position matrix, P’

How do | find the coordinates of the original point given the image under a transformation?

= To ‘reverse’ atransformation we would need the inverse transformation matrix
= e T

ab 1 d -b

= Fora2x2 matrix theinverseisgivenby 7
cd ° Y detT\ -¢ a

= wheredetT= ad— bc

= AGDC canbeusedtoworkoutinverse matrices

(X’w ab\x N e
. Y Id =
ouwou rearrange\y’ c d y f

wrl IO HEC)

O Examiner Tip

= The formula for the determinant and inverse of a 2x2 matrix can be foundin the Topic 1: Number
and Algebra section of the formula booklet
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@ Worked example
A quadrilateral, @, has the four vertices A(2, 5), B(5, 9), C(11, 9) and D(8, 5).

3 -1
Find the coordinates of the image of Q under the transformation T= { .

\-1 2
STEPI:  Determine the Fransformation and position matvices
1‘=k3 -l) E=k1 5 W %)
= & 549 4 5
Tt A
A B C o
Step2: P'=TP
P=1 3 -\(25 n 8
(-l 2)(5 q q 5)
P €-5 159 3349 2%-5
L-:Mo -5+ -\+g -‘Bno)
f':LI 6 2 I‘i) Alternatively vee o 6OC
8 3 1 2 for matrix enoltigicakion

STer 3¢ Defermine the image coordinctes Jrom P’
A(Le) B(613) c(a7) U(R, 2)
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Matrices of Geometric Transformations /
What is meant by a geometric transformation? Your notes

= The following transformations can be represented (in 2D) using multiplication of a 2x2 matrix
= rotations (about the origin)
= reflections
= enlargements
= (horizontal) stretches parallel to the x-axis
= (vertical) stretches parallel to the y-axis
= Thefollowing transformations can be represented (in 2D) using addition of a 2x1matrix
= translations

What are the matrices for geometric transformations?

= All of the following transformation matrices are givenin the formula booklet
= Rotation
= Anticlockwise (or counter-clockwise) through angle 6 about the origin

cosf) —sinf
" |sing cosf
= Clockwise through angle 8 about the origin
cosf sinf
" | =sin6 cosd
= Inbothcases
= 050

= O maybe measuredin degrees orradians
= Reflection

" Intheliney=(tan9)X
cos26 sin20
\sin29 —00520/
= O may be measuredin degrees orradians
= forareflectioninthe x-axis, 8 = 0° (O radians)
= forareflectioninthey-axis, 8 = 90° (/2 radians)

= Enlargement
= Scale factork, centre of enlargement at the origin (O, O)

(ko)
\0 k)

= Horizontal stretch (or stretch parallel to the x-axis)
= Scalefactork
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( k o\ /
\0 1 Ji Your notes
= Vertical stretch (or stretch parallel to the y-axis)

= Scalefactork
(10
\0 k)

= Translation (vector)

= punitsinthe (positive) x-direction
= qunitsinthe (positive) y direction

(&)

= Thisisnot giveninthe formulabooklet

How do I solve problems involving geometric transformations?

= The matrixequations involved in problems will be of the form
= P’=zAPor
= P’zAP+bwherebisatranslationvector
= (sometimes called an affine transformation)
= where
= Pisthe positionvectorof the object coordinates
= P’isthe positionvector of theimage coordinates
= Ajsthe transformation matrix
= bisatranslationvector
= Problems may askyouto
= find the coordinates of point(s) on the image
= find the coordinates of point(s) on the object using an inverse matrix (A1)
= deduce/identify a matrix corresponding to one of the common geometric transformations
= E.g.Find the matrix of arotation of 45° clockwise about the origin

O Examiner Tip

= Theformulae forthe all of the transformation matrices can be found in the Topic 3: Geometry and
Trigonometry section of the formula booklet
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@ Worked example A/
Triangle PQR has coordinates P(-1, 4), Q(5, 4) and R(2, -1). Yournotes

The transformation Tis areflectionintheline ¥ =X/ 3.

2) Find the matrix T that represents areflectionin theline y=X\/§.
Fren "T'ormu\a book\ek: RET‘\EC}D\‘! o e 5=Han 9):;-_
e (COQ 20 Gin 20
Gin 26 -2 20
5:x\r§: . ﬁngzﬁr e:=60°
“ T (c.oe 120 gin 120°
Sn 12¢° -cec\20°
T=[=l2 J3)2
3j]2 =2
b) Find the position matrix, P’, representing the coordinates of the images of points P, Q and R

under the transformationT.
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l::: - -EE’ (“f" E‘EI) Your notes

: LUQQ o 60C %r
moﬁmm\)ﬁp\'\ﬁ\oﬁ)

pu(';hwﬁ) 3(5-wE)  -3(248)
ToUwE)  lesE) Seal-an)

Be COI'&SEU\ COp'.jinScL calco\dler Aig?\ab
_2+\3 -2443
2 T a2
Page 8 of 15

© 2015-2024 Save My Exams, Ltd. - Revision Notes, Topic Questions, Past Papers



https://www.savemyexams.com/?utm_source=pdf
https://www.savemyexams.com/

1, SaveMyExams

Head to www.savemyexams.com for more awesome resources

Matrices of Composite Transformations /

The orderinwhich transformations occur can lead to different results - forexample areflectionin the x-axis Your notes
followed by clockwise rotation of 90° is different to rotation first, followed by the reflection.

Therefore, when one transformationis followed by another order s critical.

What is a composite transformation?

= Acomposite functionis the result of applying more than one function to a point or set of points
= e.g. arotation, followed by an enlargement
= |tispossible to find a single composite function matrix that does the same job as applying the
individual transformation matrices

How do | find a single matrix representing a composite transformation?

= Multiplication of the transformation matrices
= However, the orderin which the matricesisimportant
= |f the transformation represented by matrix Mis applied first, and is then followed by another
transformation represented by matrix N
= the composite matrixis NM
e.P’=NMP
(NMis not necessarily equal to MN)
= The matrices are applied right to left
= The composite function matrixis calculated left to right
= Anotherway torememberthisis, starting from P, always pre-multiply by a transformation matrix
= Thisis the same as applying composite functions to a value
= The function (or matrix) furthest to the rightis applied first

How do | apply the same transformation matrix more than once?

= [fatransformation, represented by the matrix T, is applied twice we would write the composite
transformation matrix as T2
= T2=TT
= Thiswould be the case forany number of repeated applications
» T®would be the matrix for five applications of a transformation
* AGDC canquickly calculate T2, T%, etc
= Problems may involve considering patterns and sequences formed by repeated applications of a
transformation
= The coordinates of point(s) follow a particular pattern
= (20,16)-(10,8)-(5,4)-(2.5,2) ..
= Theareaof ashapeincreases/decreases by a constant factor with each application
e.g.if one transformation doubles the area then three applications willincrease the (original) area eight
times (2°)
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O Examiner Tip /

. . . . Your notes
= When performing multiple transformations on a set of points, make sure you put your

transformation matricesin the correct order, you can check this in an exam but sketching a
diagram and checking that the transformed point ends up where it should

= You may be asked to show your workings but you can still check that you have performed you
matrix multiplication correctly by putting it through your GDC
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@ Worked example

The matrix Erepresents an enlargement with scale factor 0.25, centred on the origin.
The matrix Rrepresents arotation, 90° anticlockwise about the origin.

a) Find the matrix, C, that represents arotation, 90° anticlockwise about the origin followed by an
enlargement of scale factor 0.25, centred on the origin.

C-ER

C-[025 O\ e -cinP Use the ?ormu\a beoklek

0 025)\cin W cos
ol o retetion, anti- clackwice
‘ gwn‘g €:=4a0°
§=Lo-ns o )(o -l) Uge 0. 6OC Sor ki
a] 025 I ©
mu\'\'ip\iCri\'Ton
~C= 0 -025
026 o
b) 0 0 256 256
A square has position matrix T = . Torepresents the position matrix

0 025625 0

of theimage square afterithas been transformed n times by matrix C. Find T4

%
T"=C"T:| © -o2\|0 o 2% 256)
025 o O 256 25 ©

Uge a GOC +3P"“8 thic in Cﬁf‘e}zu“tj oc one caleu\ation

.'.T':OOll
“\o |\ | O

c) Find the single transformation matrix that would map T4 to To.
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—5 +° -5 WOU\A-‘\:-e“ae erde DT_ %H- Youites
LNo‘\‘e Wt [C*] doe2 nd menn C;-*)
Ve 6 60C 4o Fid [€T" in ore. caled\dion

[c]': (‘156 ¢ )

O 1%
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3.6.2 Determinant of a Transformation Matrix /
Your notes

Determinant of a Transformation Matrix

What is a determinant?

(2]
» Forthe 2x2 matrix A =
\cd)

= thedeterminantisdetA=ad-bc
What does the determinant of a transformation matrix (A) represent?

= The absolute value of the determinant of a transformation matrixis the area scale factor
= Areascalefactor=|detA|

= The area of the image will be product of the area of the object and |det A|
= Areaofimage = |det A| x Area of object

= Notethe areawillreduceif |det A| <1

= |fthe determinant is negative then the orientation of the shape willbe reversed
= Forexample: the shape has beenreflected

How do | solve problems involving the determinant of a transformation matrix?

= Problems may involve comparing areas of objects and images
= Thiscouldbe as apercentage, proportion, etc
= Missing value(s) from the transformation matrix (and elsewhere) can be deduced if the determinant of
the transformation matrix is known
= Rememberto use the absolute value of the determinant
= This canlead to multiple answers to equations
= Useyour GDCtosolve these

©O Examiner Tip

= Remember that the formula for finding the determinant of a matrixis givenin the formula booklet!
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@ Worked example
Anisosceles triangle has vertices A(3, 1), B(15, 1) and C(2, 9).

a) Find the area of the isosceles triangle.

A cketth or p\o“r on GOC Wil \ne\P %r\a- e area

2\a,9)
RKB, ’l) 8 cbsl l)
< = ?
Areq * 3 *12x8 W

“ Arzo oY— ARBC = 48 Squose oot

b) 3
Triangle AABC is transformed using the matrix T= { ~12 ) Find the area of the
transformed triangle.
Area ceole %oé\‘or ic ‘de\:]f\
|debT| = 352-24-1=8
* Area o? imaae, = 8,8 = %
RArea o? *mngi'ormex:\ '\'ﬁcmg\e = 38 Sopose onite
€) a -2
Triangle AABC is now transformed using the matrix U= 3 22 where a € Z . Giventhat
a

the area of theimage is twice as large as the area of the object, find the value of 4.
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e -3 4
det U= oxd = -2,3:=00+6 Your notes
\a3+G$=2
For a+6=2, o’:-%, ag 7, rejeck
For a3+6='1, 0’>:-8 a=-2, a€Z

Q==L
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